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22Ie 3, On January 1, 2008, Rachael Ray Corporation had merchandise inventory of $50,000.At December 31,2008, Rachael
Ray had the following a<.:counlbaiances.

Freight-in
Purchases
Purchase discounts
Purchase returns and allowances
Sales
Sales discounts
Sales returns and allowances

$ 4,000
500,000
6,000
2,000

800,000
5,000
10,000

At December 31, 2008, RachaelRay determines that its ending inventory is $60,000.
Instructions

Prepare an income statement, assuming operating expenses is $160,000.



*'
A~At.-r1l1.@,.~
:iE :if.; ~ Cl--'L '-'F ;r-

;f.JJ ~&.lrtt&f:1R.~
(7 A 23 a ~ 1m~r)

(~j Jf # 01 Jf) aLtm $~-*"110 $) &J'tif 1tm tt Jf-t~ D~ tif 1tm tt Jf-{~
2.-t./" 4, A partial adjusted trial balance of Sila Company at January 31, 2008, shows the following.

SILA COMP A.NY
Adjusted Trial Balance

January 31, 2008

Supplies
Prepaid Insurance
Salaries Payable
Unearned Revenue
Supplies Expense
Insurance Expense
Salaries Expense
Service Revenue

Debit
$ 850
2,400

$ 800
750

950
400

1,800

Instructions
Answer the following questions, assuming the year begins January 1.
(a) If the amount in Supplies Expense is the January 31 adjusting entry, and $500 of supplies was purchased in

January, what was the balance in Supplies on January 1?
(b ) If the amount in Insurance Expense is the January 31 adjusting entry, and the original insurance premium was

for one year, what was the total premium and when was the policy purchased?
(c) If $3,500 of salaries was paid in January, what was the balance in Salaries Payable at December 31, 2007?
(d) If $1,600 was received in January for services performed in January, what was the balance in Unearned

Revenue at December 31, 2007?
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:z.O/" 5' On May 31, 2008, James Logan Company had a cash balance per books of $6,781.50.The bank statement from
Farmers State Bank on that date showed a balance of $6,404.60.A comparison of the statement with the cash account
revealed the following facts.
( 1 ) The statement included a debit memo of $40 for the printing of additional company checks.
( 2 ) Cash sales of $836.15 on May 12 were deposited in the bank. The cash receipts journal entry and the deposit

slip were incorrectly made for $886.15. The bank credited Logan Company for the correct amount.
(3) Outstanding checks at May 31 totaled $576.25. Deposits in transit were $1,916.15.
(4) On May 18, the company issued check No.1 181 for $685 to Barry Trest, on account. The check, which cleared

the bank in May, was incorrectly journalized and posted by Logan Company for $658.
; . (5) A $2,500 note receivable was collected by the bank for Logan Company on May 31 plus $80 interest. The

bank charged a collection fee of $20. No interest has been accrued on the note.
( 6 ) Included with the cancelled checks was a check issued by Bridgetown Company to Tom Lujak for $800 that

was incorrectly charged to Logan Company by the bank.
( 7) On May31, the bank statement showed an NSF charge of $680 for a check issued by Sandy Grifton, a

customer, to Logan Company on account.
Instructions
Prepare the bank reconciliation at May 31, 2008. [lit 4 ~


